6)

SRISHEREE B aTh

5521

=

XAz 0wiks SHHE HAER

AR BMEICLHHERYHAEL,
5 { PEERSOERLABL | it PRI e A BE A RS SR =5
[£77K = e s34 g = [ \BE R .
Aﬂmﬁal ) lgEI (E H@ﬁ)gﬁ“ o MEHTFE. FAZNVEELYAHIZ20Ke, *Emmoxg,mgwfﬁffﬂﬁ*ﬁ‘t—a_ﬂ%%'z‘-t\_ EHEATT, (p 2R LIS BRI A RN
" AN ~) e SRR T = —
P = o = T Hﬁﬁ?ggi#wiﬁ;LA(:QML)ﬂ&Fbii*i@ﬁ:éﬁl:l‘:ﬂH'C, .gﬁgi}im%;ggf{?b%ﬁm 8iﬂjj_ S ORI E L, BERERUMSMROBEERINTNET
Ele sl P 1 I S B ) I o T [elwE 7 Ll H R BEOERTTHYET 0T HRETIBMAIZEL. B3 6 BB RN R UK - 2 BEEI9:30~18:00 BFHE20mITTEOTAL, [FEILHKLEAADHEY, ’
i (o) | & el ®]™ P B I A Y AR 5 EE A oz OBLERELHOIVRLEERE L RRMRELET—IDHYE
5%1453 ﬁ)fi%,{o/\/%ﬁﬁy)?kaﬂ: - i (38 Z an) x| & | & 55 % b\ié %?I + ;E M g ik ES + e B =Y —d—o
(BB EE) i 200m (857)  SHF1456 . r ww,@ aio| |® | el ®|® 23 et IR S A R ?mwzﬁ E ES
B 1E B 200m (105) 551459 i (o 6 )
Pyt cC 1 5 4 Btk s @ o B 200m (1058) #1462
BIE (B X S -BE-2v)H¥ 3 . i 200m (1058
5 XwOIBR) - B 2 % 10 ﬁﬁiﬁ ki)‘%ﬂ(%’g 9H)
‘ PR S 12150557
Cl1—6 210J7A7H ME e 705%) HEREFTHES 135404y A 2
K& 210000 D900 O ReFEE) 1205534y B—5 HE S & 1354047 A
’ > 52,000 @ 28,000 ® 19,000 %{%iﬁﬁﬂj‘:zu 125%‘:55@\ B 3 ) %szﬁ‘ﬁ@j 145%4:2857\ B2—5 440755{%% /{:Q% Rﬁﬁfﬁ%a 15H%€20§7\ LREY s
s N ) @ 310,000 @ 117,000 @ 68,000 @3 . f St AE e =2 gt 4 ﬁﬁfﬁﬁ/*\ f VAN
1138l 1Ay~ 650| A E R w4 U T N ’ : 7,000  ® 24,000 AL 14K530%) Ko ©350.000 @ 133,000 kit 165084y  A2—5 T007AKN HE ES & 16/F55%)
% Al HI0SLFA— | £ B —) 1Al lverae 540| #w  —m B i BIi T s & 7 : , ® 77,000 @ 42,000 () 28,000 MR 160105 Hée FETEREY) 17H434%y
o |2 2 [rvrazss+—|630] #E = = | 4 Sr one e i T & E 3 Hish B 7 o b)@g el lesior=—x]s —E —— F104r  H4 400,000 @ 152,000 (@ 88,000 @ 48,000 (& 32,000 Y N
% A#E 2Xab7% & 2 |&| 2|7V yx 560| & B ¥ VAR TR so| e e ||| 6 (Lot [ R = FA 17RE450)
3| K| 3|UVr— 650| BEE =k & o | 4 T == ;3 fﬁ_%) &m & = 4| 3 A% & I (ﬁ) HERHGR o 12| 2 rFsoemr |660] mx = iﬁ if;;:‘ (L& E &) B|l1l|VzAT—2X 700| % HB— 7% | 8 F vHA N WE K
& B byvavsy— || 3 || 3 [FrEaev=x =5 o 1 LI, i LB AR VIRTYYT M B & B . R ~NUZAY |7 B # 8
s |#|a|orrsme  |620|xax Ta B4 g v=r2|560| Mt BA |28 b S s 3 |#| 3 [xavmprez— = e o L B e ) el 4 o I i A
% A e #| 4 |77esrraz|s60| ® sk |2 BB 2 X5 7> Vay e 680| HE # |2 |H|5 |uy oAt A N EYP I Y SE, . B aid R B % & %
5|¥|5|[=b/7TF 650| RE = i N R R |2 5|3 |pe mrr (:TF’;: %#ea; A 650 2B =% |B . i ff/:;v ;;TJ: ) 7R VxAd—/ K |700| B K ||| 6 Egiﬁnw‘% NS
Hif 4F2014 NEEAEAREII A . & U % - — ‘ | 10 w*EF A oo EvVIATER @ W B )
6 |#%)| 6 |[F=Avst |650) Wk L i 1 P i if\ ; ”ﬁj'k) R o] N £ E;ﬁhgg iﬂ: f.sf; 5|5 |AfLH 650 | XA S g . ﬁ; fuiﬂé? %&T; waf |*|F| 477 |700] P RS i T H°$fg?ﬂtj:ﬂ— pal
B VoY 6 [Fk| 6 [F7EALIYR E S 8 JTAT B _ ~/ N
TR T U7 660 &B FIE i A N s aew::m‘ﬂ';i\i m,fa? : JYA|B00| A B ||| 8 Egéﬁf—”i}%ﬁi : g:g 6 [#%| 6 |FYNEIVF|680| sk I )2:4 bt Egjﬂa—:g Fv ((H;Eﬁ)glsﬁ-i ol |° R|5[P777a—7 |700) BF F® % g Eg@%\;y g
e 7 |z : B S Ak M 9 |V o me PR : y x CH-N )
8 |#| 8 lemnmss l630] i —# = wl s Hﬁ:“/%n‘-:;‘/(uj ;; ¥ % 7 T7FR—1 | 540 BE = ¥ 3 Eg;&ﬁ'§7/ (?i;l; %iﬁ; ) S N — % flﬁg fy:?ﬂ_ & # ER 6 [%%| 6 [avU kY 700 #ik FEIT % #t:| 6 224"/74:?4— X & N
2 & oS 7 — - &N - A H AR X ATRH |k _
A X B8 B HM® 8 |&7Af=_F—|560( T H— i B 3 Egéiﬂ;n:—w/ ) Ll —n (L . G % | 8 i by vay|ox ;; ;: _1; 7 |27 —v 700| 7 H— JE& #| 6 A# Lybd (Y (,T\T; i ﬂz
9 [ZVRZARFAR|560| &I =R A 7?‘2"41:“%1—@ o= A/NUAA|680| Mk FH | |H|5 ik %5 /4—n7 | () A & - i Hik % & GRS
8 | bk B =X B3 Y= B HE X SV Rz B E B 8 |zaswens |700| wx om |B il 7o A4 »
% A#k ALa<TF 9 [av/b—m— N 3 = = |48 % H E %
10|¥V=A74 530 | %4 = Bt 7OXAETN— ax PO 8 | Bk 680| Ml BA | 4|7, Be A 74=7 10— [0 KIReE . = Hik ST YA |08 B & 1
5#:1454 i G Fa | Z (43 it N P SNy = Vol R A Oh # B D) 9 |TrARAUB 680| #L & |F|w|g|FRITN 5 = @
L) LR WFE 200m (1088) 5Hr1457 - Flen um SxA=7 680| HH X | |H|1 My R e K Py = 5 £ T b W * 2
(LA - , fi VY G Y 10[7 a7y [700| w A B Pl 7377744
% 2 ﬁiﬁ BREBEE) EE E 20 5 5-I:H‘ I% #i 11 A &
p— Bt 200m (95H) #1460 T 23 AT B == Ry 7~V |k & ® —)
3 7 yis3 5 o ) HEEfE 200m (105H) 5HF1463
BIE (B X e -BFE-295% <PEESD > 4 - PHEfE 200m (95H)
s " 3 & % 11 i A &% R
D4 W il e R B (B - PR - B - 2O B ) <Pt > =T
2 s sk ) 130MF285y  B4—3 280 AT BlE PR S 147155 B
HAP @240,000 @91’000 @52,000 @28,000 @19’000 %%H#Z” 13Hjﬂ?30/\ Eé @2 SLAE %%ﬁ@ 155#03% A—3 %QH/:E’ %@Jﬁﬁ/ﬁ\ 15H%—]E50§7\
; F3057 70,000 : o e SRR TR A
Tal1l5onvex lazol & s |Elw| g [FEAP 7> B AER @ 102,000 @ 59,000 @ 32,000 © 21,000 R 1515054 il D 100 AR 16H538%  A—Tr— oA YT S 1THR255)
= i okannl I I Y = B R PN T o P R i [0 D000 @ 102000 G800 W00 G RN 1685405 RITHEY) 18871357
2| 8|2 |AyFH%H 540| TR LB % | 3 B#t Eahae & T T 2 = 3 4 B d B K- 18| 1|»9/Fyh— [b75| B 5 JE& B 3 B# 7oFAEsN—[ 1 ‘%)% e D800.000 @ 304,000 @ 176,000 @ 96,000 G 64,000 b 8Ly
BB KA KF B2 |T—nra— _ AT A— = il St § ‘ T1o%)
3 (K| 3 [|~==atr 540| #  mew B P Elﬁﬁz;/fj//y‘a—r (,J\”g TE;:: NH 650 | ##EF & g Bt 4 E:ﬁ’;}/z: T4 (ii '’ = o2 2 o é H 8t 7\47‘//:»—]\ 5 % ® —) 18|13 fras |725| &H Fi& JE& # | 5 Bf 7o—7r16—|E A & 7
ES Bl foFIer |k & ool |3 #| 3 [3XFLF4— |630| Bt % B B DT 7o) =0 | — Ei) i 555 | ¥ fHB— 7% AR 2;24/74:74_ ® R R = o || 2 |5 . g Elﬁa EAINTRX | B =)
4 |#|4|FEy= 520| s —t | s | g [FBTASYY [EGEE A 2| H| 4 R oroenr | ® mm| | 3|F[3 Y77y |5 " e AT R il ) il H ol s
+ S o\ 8w ow| | 4| F| 4 [FEINEYAY| 640 | K43 B (ERETS N [ s 5| FR BE £ |H) 3 gl A P Ak Veqy |BAF BB
5 ﬁ 5 )(y\:[:“‘f/“‘/ 510 *é’\# Fa ﬁ q:l_" M 1fn) AR F 7 | B B B 7 T % *i 4 Hﬁ;ﬁ/-ﬂ-ﬁ;;::y]\ i SRE R 4 % 4 e ““TU E H &t éjT{ﬁEf #HH E B — |3 ﬂ‘7ﬂ24543'7 745 W%ﬂs ﬁﬁ % 4¢i 4 Elﬁﬁ7°/‘5?’41:°y1~u~ﬁ N E A
Blug| s |Fm om0 e 25| |5 || 5 poayvar—|6s0| &4 w2 T & Fo—avah |575| i F |G (%3 hea e lms o |4|F : = EL T e A Gl
6 |#|6|7=7V—=~ |520| BB wmx |B|g|s IR T= | SHER \ il E i Tt 7#1\‘3:/“‘// @ = 5 ¥ |5 [FAPVERR W g 3 iﬁ El = B B 4|7PTVXEA |720] i M | %) S SR il
% B Aol fos & oz | | 6 |®k| 6 [YTAT V2D 1650| R RE 7 T 17 |E %;? v 575| WS RE || 4| 3 Emf)é:zﬁft\‘y?"it A KB [ 1%l 5 lrnowo sz = Al 7o—~u%—|0h # B &
7|77 Y540 4B AE i3 B 3 A ~L=kr7/—|FT N &+ 1 = 1 4 N s Ty | & m— 6 L] 6 lro%rom— - = TW)?‘T/ R & X - % TE L 750 A& HEA | 4 Al %% /4—n1F |[F N E8T
(@R % Ak IHe ot x| 7 L ANACE LS VA 660! ®m — B =TS E R %} FR 575| M —#t |2 #| 3 Em 77%/5?%&& % B o e > - % A 7 M8 ¢t BB —)
Py ——— PN p——— ] P Y [ 2 o TR B0 e e 7 |7t a sz = Rz e i B B 6 [wrvawRa  [760| WA & |B|ge|1oFR=o A R®
il 1 il P s e g 8 [kvFrxr s |650| Wit AB | X i v 7|8 L G i E R s - R I = B ey L
o | 4 9 B av 7477|520 A E i w| 3 [P T—[aw %; 8 | #k = | % 4 pa o (E‘i”;r gg 8 |¥& /% av |575| L E " Hng;;f;r;(f; B) Yv/a—xn |750| R KEE j% | 5 Eng‘/%vyyﬁqﬂ Nk B
B % i 9 [VxrR ; 5 Ny - Bt 3 = 3 _ ¥e/ZAatA % # %W
104 27— |540| s mA | B I e T 630| mm wx |F |4 |pp U0 B 9 | \ £ AME <Y—moy R [ BB ) 8 [F7b5/azm|760| B w— |B|a| 7 [FR7ATV7IE S E 5
= 13 ipanigim R R AXEN|GE % % 8 | 5 syRENIA— | BEE| Ml A | D[4k 3 Af =v*=—nv[8 W x & 8 [ Bk % Al XA F— 8 & ® B
5851455 i ) P B % 7 % W @m B 9 [r—swrvrr—|760| B —ut | |ar| g |FEFFIMVIIEE E -
R 200m (1058) 5¥r1458 o AV |575| W ORA | |3 uadadand LI &z B 3 b B
% 3 Bk o BERBEVVRREVVH Wil 200m (05E)  5#F1461 REE lx=xh
. = L&
3 B %6 Bk (N SRR ) f B 200m (95F) 571464
< SpEEn > ) B 4 % 9 Bk G ) b B BB 200m (95E)
RTES 1315105 I (5 BB - 2 9085 ) <mEns B 1 # 12 Bk BKHE
C—1 HE HEPTRE 137710%) o BIE (BT B - X 0) B R) <ShaEn > B 3
P N WIS 14RF455)
e Do o @ - SSREU) 138558y BA—1 2805KN I o ” A n
) 000 @ 32,000 (21,000 SR 145005 HA D210,000 @ 102,000 FEoekEY) 15335 B1—2 5505 K0 HE LERPTEE S 1617205 e A
118]|1[ve/%¥ (650 A E il B 3 Bl ~r=to 77— F & — ’ , ®59,000 @ 32,000 ( 21,000 ARG 1585354y Ko @ FEoeAwY) 17KF085r  B3—6 3505AM BE RS 1817004y
\ = iRt TN B Y P By E 2 FUVN I— = ” T 73 ¥4 350,000 @ 133,000 @ 77,000 @ 42,000 28,000 B 1THEI0% K VEAE FEoEhY) 18HE48%y
2 | B| 2 |[~nrrvaksr 550 R KB i B 3 El:iww‘ﬁ e BB |, lm % 4w o%as ;ﬁg 1{@a|13r/70927 |690] Ml BA [ #| 5 B o= — |k rs);z‘ 7_; Ka 270,000 @ 102,000 &59.000 @ 32,000 6 21,000 s 1816505
B #ovr—LloT - H| 2 |77EVF 2P ; ' e . . Rl
3| #%| 3 [venv9rra7|530| em A X 4|3 |72 S 6 H WA VI/¥57(640) &M FK |2 |e| 4 g e eranln 'y A 2 |82 [resas 7 DR A = R L|E| 1 |presesio—{eso| wh xm B |s| 6| TR 7P L E 8
- £ B v~ryrex|e M B) 3[7R| 3 |wnAdrxA |630] HE E 5 B /LANT <Yy ;i\ —— - il 670| #A ®IT ES | 12 de :7_/_3—?—‘\’7?/ BB =B o m] g |as g L1 E:’%ﬁﬁﬁ W E 2
4| #|a|v=ts57 520|208 Ta |F s 3 |BBTTIIVI &R & % || 4| na 7o0r79an TR 3 |#Kk| 3 |~ HFxFVF4— B T TAXVIUR B % H = T and—U%|670| BE a| 5 |[FBIFATL W =
% oo b Ry w4 |ors7o0s (eso| e g |F R T e e R B A K S oo S N KL S - H erm Jo k2 A
5| %&| 5 [2—r—tra—|530| mm mE |2 |g|s [BRTALIY 6 B Blae| o |B8x 7= r Bl |y | 4 [reseam | E 77 A ok x of L7 3 |eary=tov¥leso| W w— |B|s|s DR E#
% ct e | Bl 5 |%&|5 v FTs |650| Wi —u 5 ool v eos| W w218 hpm e e mw |4]®|4]E £ o 2 & k& %N
6 | 1| 6 |[x—rs—rvx|550| wk s |[F|ar| g |FESVI=AVIE U w8 2 | *] 4 nmkrsax 2 5 |%| 5 [#romy ‘ B e T ? 670| i ms | & | |13|Dh TS| K
\ = me R B e |6 [raxx Jeso| # omex B o T 690| & #k |Z |45 | TR B N[5 ® o . e = A R
N7 [25771 |sa0| B e Bl (1777 Tk s X |2 [%] 1 |ig toroex |a s mw 6 |&|6|rox—n |e90| &m ma [B e 5|[vrved—nk 670) #E & (Zl#|6 |pRtTTE B2
— Rk T A 7\#| 7 |4k N S 1A & |7 vad— %o ‘__ SNETIRIN| G % %
8 [z Fal—r—k|5 = | B amjrm /:*ti ¢ A 7 %) 1575%71650) A K % A O e a H#e yq=2 7SVl 3 %) 6 |#k| 6 |XFITA 660 |sormk = |2 B LoM Ay [ KR )
30| &K FES #| 3 4=74—|E M B W EANWES (o (AL ANAEIN=1=% 6 S [ Y FUFRT s + B 6 e B
i S R i Yavd (i B -2 N 8 lavvanzrrleso| gk ma |2 P T 65543 T |2 || 5 |py 4 FTvy7In R Bl g | 7| . H ¥ SO Uh B D)
s | 5k 9 |INVF—r 540| G —#t % | g [FBRO7=70— R & @ 8 | #k il Y Kl I Al s ans—y (ﬁ\ﬁ #i 8 |R¥EXAF 690 | Hib  E# B Bt i ’rii]f//]\/ (f; H ) AIRT7Y |870) AR RE i |5 Eg/'?;jﬁ s
N - N — _ 2y B ~ =0 9 R e - v 78 -
ol7v oot 550! mE — & E'g%f@fﬁ G 9 |27 ¥ 1Y% 650 #  J¥K % B | 4 Al IYESAX (¥ m & F 8 [ #k - % Al n—2102 (e wen) 8 |[4Fxez4—|670| FIEE #=E [ w8 A wﬂﬂﬁ_&; ?:g
B |2 (%3 | pmm m (:) e B & T O o) 9| \vF 690| F&E (- i w| g |FRTEFT wm A 8 |tk & Eh: Rt O A K —)
@m| B T L BEE r~dodiflE o % %0 9 [kvFa7 5w |670| v A | m |a:| 5 [FEEIET e —
= = LN VESI (T )
> & ob B

rA—%)—\O—JIZkDREBDEFEEEMmLEL-




